Automatic Ash Removal for boilers D15P, D20P, D30P, D45P

Automatic cleaning of ash from the boiler

As an accessories for every boiler DxxP made after 1.3.2007 you can buy automatic ash
cleaner/remover from boiler into an external ash pan /30/. Which you can empty once per
14 — 45 days depending on quality of pellets and intensity of heating. The boiler is cleaned
automatically by the auger conveyor with gearbox /1/. It cleans the ash dropping space in the
boiler in regular intervals in 1 hour, in 3 hours or in 12 hours depending on type of used fuel.
It is possible to switch the automatic cleaning manually by pressing the main switch on and
off on the boiler then the auger runs for approx. 10minutes. The ash cleaning is controlled
automatically by control unit placed under the main board of the boiler which after filling the
ash-pan starts to wristle for a moment. After emptying the ash-pan /30/ we have to restart by
switching on and off the main switch on the boiler.

The automatic ash cleaning does not need any special threating. The only threating it
needs is emptying the ash-pan /30/ which is fitted to the boiler with two clips /32/ which
during operation of the boiler must be properly closed so that it could not push the ash
out of the boiler into the boiler room. The all ash cleaning set must be properly connect
to the boiler as well.

Process of dismantling of old parts

Before installing the ash cleaning set into the boiler we must dismantle some parts.

1) unscrew two female screws /34/ which tighen the ash-pan /35/ to the boiler. Take the ash-
-pan /35/ out since you do not need it anymore.

2) dismantle the moving grate from the boiler. Its rod is in the front side of the boiler. Un-
screw the thumb nut /33/ with safety nut. Then take out the side ceramic parts /40/ and the
bottom ceramic part /38/ in the combustion chamber. Do not take out the rear ceramic part
/39/ of the combustion chamber. Then you can easyli take out the rod of the moving grate
/36/ the moving grate /37/ and the stationary grate /41/. Separate the moving and stationary
grate from each other. Then we put the stationary grate /41/ with complete side ceramic parts
/38,40/ down on its place in the boiler. They remain in the boiler. When installing boiler with
ATMOS A70 Petro burner and automatic ash cleaner we have take out the stationary grate
/41/ as well. We put down 3 short stationary grates instead which hold the side ceramic parts
before dropping down.

3) in the back side of the boiler dismantle the covering sheet plate with insulating cord. Later
at this place we will fit the gear box of the auger /1/.

Process of fitting the ash cleaner on the boiler

1) seal the hole where the moving grate rod was with a thumb nut /34/ and a screw M10x20
/18/.

2) put the sealing /15/ on and fit the cleaning set /19/ into the boiler and tighten it with washer
M10 /16/ and a screw nut M10 /17/.

3) put together the gear box /1/ sealing /3/ and a sheet plate /2/ outside the boiler. For it use
screw M5x80 /10/ and a washer M5 /9/.

4) fix the auger /4/ to the gear box /1/ and tighten it with two screw M4x10 /12/. The auger
set consists of a few parts /4, 5, 11, 12, 13, 14/

5) put the sealing /6/ on and fit the cleaning set into the boiler. Then check the proper tighte-
ning of the set with boiler. It is tighten with 4 washers M8 /7/ and screws M8 /8/.

6) put the ash-pan on the outletting pipe and fix its position with clips /32/ to the boiler so
that it could not push the ash out of the boiler into the boiler room.

7) connect the cable from the gear box /1/ to the terminal block on the boiler. Make the
electronic installation directly after the manual instruction for D15P, D20P, D30P and D45P
boilers. At the end check proper tightening of all components.

9

10

Legend:

O 00 1 N L A W N —

BAOBR W W W W W W W W W e e s e e e e e e
— O O 00 1N A WO O 0NN AW O

. gear box 25W / 230V/ 50Hz (1pc)

. gear box sheet plate (1pc)

. gear box insulation (1pc)

. auger (1pc, included in the set)

. gear box and auger adapter (1pc)

. insulation under the gear box sheet plate (1pc)
. washer M8 (4pcs)

. screw M8 (4pcs)

. washer M5 (2pcs)

. screw M5x60 (2pcs)

. screw M6x30 (2pcs included in the set)

. screw M4x10 (2pcs included in the set)

. washer M6 (2pcs included in the set)

. female screw M6 (2pcs included in the set)
. sealing of the cleaning set body (1pc)

. washer M10 (2pcs)

. female screw M10 (2pcs)

. screw M10x20 (1pc)

. cleaning set body (1pc)

. ash-pan (1pc)

. clips (2pcs included in the set)

. handle (1pc)

. thumb nut M10 (2pcs)

. standard ash-pan (2pcs)

. moving grate rod (1pc)

. moving grate (1pc)

. bottom of the combustion chamber (2pcs)
. rear ceramic part (1pc)

. side ceramic part (1pc)

. stationary grate (1pc, D30P and D45P completed)




BR-BROWN-BRAUNE-HNEDA

BL-BLACK-SCHWARZ-CERNA
BU-BLUE-BLAU-MODRA

'
oz

R-RED-ROT-CERVENA

OPTION OF ACCES POINT FOR ASH-REMOVER
ANLAGERUNGALTERNATIVE FUR ENTASCHUNG
« « = ALTERNATIVA PRIPOJENI ODPOPELNENT

VENTILATOR SWITCH

SCHALTER FUR VENTILATOR

VYPINAC VENTILATORU

44
J

Nvyp2|

Ll
w2
Lvyp2

B

Lv!
FHNv:

SWITCH M < OPERATING THERMOSTAT PUMP THERMOSTAT SAFETY THERMOSTAT
SCHALTER <N BETRIEB TERMOSTAT PUMPETERMOSTAT SICHERHEITSTERMOSTAT
HL.VYPINAC N m o PROVOZNI TERMOSTAT TERMOSTAT NA CERPADLO BEZPECNOSTNI TERMOSTAT
895 —— —
T -
sE2
2l e® © .
; s ]
+3 3
2 o9 2 o \7 ]
g & 9 4 =t g
o]
& 3 o g € B
H g & = EE
2 g
1) —n K
= 29 ||
S
n n
a3—1 a3
[ 2
3 ]
H i
B
£
z H
g
B
<
t L —= 1 | 1 r
N BL BU GY BL BL BU BU BL BU BL BL
o 1,5 1,5 05 0,5 1,5 1,505 0,5 0,5 0,5 0,5
H 7
o ]
B —
) [
: = 7
>
: “ 4
2 — L.
g _ T
P l|@
& ),5 ‘_
5 &

rl@«®

= @ ®°|‘
R

ASH-REMOVER
ENTASCHUNG
ODPOPELNENT

RO

—0

5]

WHEN USE ELECTRONIC REGULATION ACDO1 MUST BE THESE CHANGES OF WIRING:

BEI DER STEUERUNG DES KESSELBETRIEBES DER ELEKTRONISCHE REGELUNG ACDO1 MUSSEN DIESE ANDERUNGEN MACHEN SEIN:

PRI

ELEK REGULACE ACDO1 PROVEDTE TYTO ZMENY:

SPEISEKLEMMEVARIANTEN FUR ELEKTRONISCHE REGELUNG

@ VARIANTS OF RESERVOIR POINTS FOR ELECTRONIC REGULATION

VARIANTY NAPAJECICH SVOREK PRO ELEKTRONICKOU REGULACT

SPEISEKLEMME "L2" DER BRENNER FUR DIE ELEKTRONISCHE REGELUNG

@ RESERVOIR POINT "L2" OF BURNER TO THE ELECTRONIC REGULATION

PRIPOJOVACT SVORKA "L2" HORAKU DO ELEKTRONICKE REGULACE
WHEN ELECTRONIC REGULATION CONTROL BURNER - CONNECTOR "PT-C" MUST BE UNCONNECT

DEN KONNEKTOR "PT-C" ABKLEMMEN BEI DER BRENNERBEDIENUNG DER ELEKTRONISCHE REGELUNG

KONEKTOR "PT-C" ODPOJIT PRI OVLADANT HORAKU ELEKTRONICKOU REGULACT

SPEISEKLEMME "L" DER KESSELPUMPE FUR DIE ELEKTRONISCHE REGELUNG

PRIPOJOVACI SVORKA "L" KOTLOVEHO CERPADLA DO ELEKTRONICKE REGULACE

WHEN ELECTRONIC REGULATION CONTROL BOILER PUMP - CONNECTOR "TC-2" MUST BE UNCONNECT

@ RESERVOIR POINT "L" OF BOILER PUMP TO THE ELECTRONIC REGULATION
@ DEN KONNEKTOR "TC-2" ABKLEMMEN BEI DER KESSELPUMPESEBEDIENUNG DER ELEKTRONISCHE REGELUNG

KONEKTOR "TC-2" ODPOJIT PRI OVLADAN{ KOTLOVEHO CERPADLA ELEKTRONICKOU REGULACE

@»nmmm POINT FOR EXTERNAL BOILERREGULATION

ANLAGERUNG FUR EXTERN KESSELREGELUNG
PRIPOJOVACI SVORKY PRO EXTERNI REGULACI KOTLE

TIMEUNIT FOR ASH-REMOVER
ZEITBEDIENUNG FUR DEN ENTASCHUNG

A50 BURNER LOWVOLTAGE CIRCUIT - AC-05

@ CASOVY MODUL PRO ODPOPELNENT

BEDIENUNG FUR DEN NIEDERSPANNUNGKREISDES BRENNERS AS0 - AC-05
OVLADANI NIZKONAPETOVEHO OKRUHU HORAKU AS0 - AC-05

D@ 230V/50Hz
Y =

D30/45P

tal-

ins

the boiler when

nto

the holders (spreaders)

ling the ATMOS A70 Petro burner.

itting

F

Holder of side ceramic parts. Included in the delivery for

ash removing for boilers D45P — 3pcs.

for automatic ash removing

10n

2

9

1 block of the boiler.

b

lers D15P, D20P, D30P, D45P with connect

i

d G on the term

Wiring diagram for bo

ma

1t signe

control un




